9% NN PINH - NTIYN 1709p Wp
(15/5/2022) - 1 AN1DN0
YVM9
79P D
mNa 37Nv A% 9.0 o NHIYN N9NaN Pyo W 07PN 9899 3 9”9 P10y DINH NINRN POy 0NN NAYN NIND A8 NaVN NN NN TIIN V99 NMNN \7”"”)'
4 2 2 13865 Welding neck flange OONN 1E0104 NN IVIN 1E01 ' Flange ASTM B 16.5 A105 1 7 w.n.r.f #600 1E010108]
8 6 2 13968 Welding neck flange OONN 1E0104 NN IVIN 1E01 ' Flange ASTM B 16.5 A105 2 7 w.n.r.f #600 neck std | 1E010208}
3 0 3 14048 Welding neck flange OONN 1E0104 NNY VAN 1E01 ' Flange ASTM B 16.5 A105 4 » w.n.r.f #600 neck std | 1E010273
8 6 2 14067 Welding neck flange OONN 1E0104 NNY VAN 1E01 ' Flange ASTM B 16.5 A105 6 » w.n.r.f #600 neck std | 1E010287|
4 2 2 13894 Welding neck flange OONN 1E0104 NN IVIN 1E01 ' Flange ASTM B 16.5 A105 10 7 w.n.r.f #600 neck std [ 1E010137|
spiral wound gasket acc. To ASME B 16.20grafit
5 2 3 14422 D»INYID DNON 1E0105 NN IPIN 1E01 ' filledcs centeringss inner ring for RF flange 1 76004 | 1E010494
spiral wound gasket acc. To ASME B 16.20grafit
14 10 4 14427 D»INIID DNON 1E0105 NN IPIN 1E01 ' filledcs centeringss inner ringfor RF flange 2 7600# | 1E010499
spiral wound gasket acc. To ASME B 16.20grafit
3 0 3 21864 D»INIID DNON 1E0105 NN IPIN 1E01 ' filledcs centeringss inner ringfor RF flange 4 7600# | 1E012586
spiral wound gasket acc.To ASME B 16.20grafit
10 6 4 14430 D»INYID DNON 1E0105 NN IPIN 1E01 ' filledcs centeringss inner ringfor RF flange 67 #600 | 1E010502
spiral wound gasket acc. To ASME B 16.20grafit
8 4 4 14425 D»INYID DYNON 1E0105 NN IPIN 1E01 ' filledcs centeringss inner ringfor RF flange 10 7600#| 1E010497
2 1 1 15271 Half we coupling-mam 1E0111 NN IPIN 1E01 ' half coupling 1 we #3000 1E011230]
12 2 10 16306 Socket Welding mnvp mnvp IEo116 NNN VAN 1Eo01 " elbow 90° 17 ASME B16.5 A105 sw, #3000 1E012097|
2 1 1 16403 union Union 1E0102 NN IVIN 1E01 ' union cs 1 se npt, #3000 1E012182
4 2 2 16370 Socket Welding mnwp mnvp [E0116 NNYOIDIAN 1Eo01 " elbow 90° 3/4 » ASME B16.5 A105 sw, #3000 1E012160|
12 10 2 21026 butt weld mnvp IEo116 NNN VAN 1Eo01 " Elbow 90° 27 bw LR A234 c.s. xs. 1E012513
3 0 3 21030 butt weld mnvp [E0116 NNYOIDIAN 1Eo01 " Elbow 90° 47 LR bw A234 c.s. std 1E012517|
6 5 1 21033 butt weld mnvp 1E0116 NNYOIVIAN 1E01 ' Elbow 90° 6” bw A234 LR c.s. std. 1E012520]
16 8 8 17 16709 qn »1a [appy] 1E0401 0'pam oM»n1 1E04 Vo stud bolt 5/87*3-3/4» B7 + 2 nuts 2H galv 1E040092
72 56 16 27 21546 N M1 [ap> i} [E0401 0Xpan 01’12 1E04 VO stud bolt 3/4 *4-1/27 B7 + 2 nuts 2H 1E040162
10 0 10 4 16737 qn »1a [appy] 1E0401 0pam oM»n1 1E04 Vo stud bolt 7/8” * 77 B7/2H 1E040100|
61 36 25 6" 21264 RiaR>gh! [ap> gl [E0401 0Ypan 0112 1E04 [o}v) stud bolt 17 * 7-1/2 B7/2H 1E040151
85 50 35 107 21260 qn »1a oM 1E0401 0pam oM»"1 1E04 Vo stud bolt 1-1/4» * 97 B7/2H 1E040147|
pipe ASTM B36.10 A106 GrB 3/4 7 seamless B.E.
12 6 6 17935 ASTM A106 ypn ASTM A106 ypn 1E1214 MmN 1E12 N sch-80 1E120171
6 0 6 17939 ASTM A106 ypn ASTM A106 ypn IE1214 mNrs 1E12 VN pipe ASTM B36.10 A106 GrB 1 7 seamless sch-80 1E120174]
15 15 0 17669 ASTM A106 ypn ASTM A106 ypn 1E1214 MmN 1E12 N pipe 2 Inch, bare seamless, sch 80 1E120422
pipe 4 API 5L X52 SMLS w.t. 0.281 » PSL2 , Bare,
6 0 6 25945 API 5L X52 ypn MmN 1E1202 MmN 1E12 on ats 1E120417|
pipe 6 7 API 5L X52 SMLS w.t. 0.375 » PSL2 , Bare,
21 15 6 25936 API 5L X52 ypn API 5L X52 ypn [E1212 MNP 1E12 on ats 1E120408]
pipe 10 " API 5L X52 SMLS w.t. 0.365 " PSL2 ,
15 15 25916 API 5L X52 |pn IRTREN IE1202 IRTREN IE12 aun Bare, ats IE120389
pipe 12 7 API 5L X52 SMLS w.t. 0.375 » PSL2
3 0 3 25920 API 5L X52 \pn API 5L X52\pn 1E1212 MmN 1E12 N ,Bare, ats 1E120393
pipe 14 7 API 5L X52 SMLS w.t. 0.375  PSL2
6 6 0 API 5L X52\pn API 5L X52\pn 1E1213 MmN 1E13 N ,Bare, ats XXX
19991 DT MTHY DNNNA NPNYIIN NNN NHT
3 2 1 25350 NN OIVIN MNY NNYOIVIN 1E0103 NN OIMIAN 1E01 n ymv X MPH-90| TE013106




2 1 1 13760 Blind flange OONN 1E0104 NNY VAN 1E01 ' Blind flange ASTM B 16.5 A105 1 r.f. #600 1E010009|

6 5 1 13802 Blind flange OMIMIN [Eo104 NNN VAN 1Eo01 " Blind flange ASTM B 16.5 A105 2  r.f. #600 1E010051

1 0 1 13833 Blind flange OONN 1E0104 NN IVIN 1E01 ' Blind flange ASTM B 16.5 A105 4  r.f. #600 1E010081

5 3 2 13841 Blind flange OMIIN IEo104 NNN VAN 1Eo01 " Blind flange ASTM B 16.5 A105 6  1.f. #600 1E010088]

4 2 2 13772 Blind flange OONN 1E0104 NN IVIN 1E01 ' Blind flange ASTM B 16.5 A105 10 " r.f. #600 1E010021
induction bend,R=5D,45° 107 API 5L X52 SMLS

4 2 2 25994 butt weld mnvp 1E0116 NNYOIVIAN 1E01 ' w.t.0.365” PSL2 1E012762
induction bend,R=5D,90° 10 API 5L X52 SMLS

2 2 0 25993 butt weld mnvp 1E0116 NNYOIVIAN 1E01 ' w.t.0.438” PSL2 1E012761

1 1 0 16474 weldolet [aphip] IE0118 NN IDIAN 1Eo01 ald weldolet 10 * 6 7, xs 1E012247|




